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Importance of Meiosis

Mitosis

- One division occurs

- DNA replication occurs during
interphase

- Synapsis of homologous
chromosomes DOES NOT
occur

- Two identical cells are formed

- Daughter cells are genetically
identical

- Occurs only in body cells
- Involved in growth and repair

Meiosis

- Two sets of divisions occur
- DNA replication occurs once

before meiosis |

- Synapsis of homologous

chromosomes occurs during
prophase |

- Four haploid cells are formed
- Daughter cells are NOT

identical due to crossing over

- Occurs in reproductive cells
- Involved in production of

gametes and genetic
variation



